Cetka(1l,1) Crpanvua 1 n3 15




LCETKa (1,2)

Ctpanuua 2 n3 15




5cM*5cm

46
Copout

\




~_rost_ 158
(a-MoOSIOCKU

LCETKa (1,4)

Ctpanvua 4 n3 1




LCETKB (1,5) Ctpanvua 5 u3 15



Cetka(2,1) Ctpanuua 6 n3 15




MID0LOU-BeXh0d0)
8GT 1sol 9o

Ctpanuua 7 n3 15




LCeTKa(Z,Z%)

Ctpanuua 8 n3 15




j\]CeTKa(Z, 4)

Ctpanuua 9 n3 15




LCETK/( 2,5) Crpanuua 10 u3 15



Cetka(3,1) Crpanuua 11 u3 15




NN

j\]c

eTka (3,2)

Crpanuua 12 u3 15




Copoyka-

46 ro

B¢

8GT 3504

NHOOLOU-

e

A




rost 158
NOTOCKU

-eXh0od0o)

)7

(@]
[¢]
=
=
(]
—~
w
~




LCETKB (3,5) Crpanuua 15 u3 15



